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1 T A7 7 VLA - Uyiv Tk 100 95 | Bt <ol 95
2 T A7 7 VLA 50084 I Vv By 177 169 | ARt <L enpdhs 169
3 T A7 7V NELE 400~499 PRAVZ B 197 188 | HIREH <A bopdhk 188
4 T AT 7 VNLF 300~399 Uy B35 229 218 | HFREHE </ enps 218
5 T A7 7V NELE 100~299 PRAVZ B35 294 280 | HIREH <L eopEE 280
6 TAha—)L 20kg % — 2,260 2,150 | fFREE ~LenpEil 2,150
7 T ha—/L 30kg &~ — 3,050 2,900 | AR < LempEil 2,900
8 TAT—L 20kg % L 2,780 2,650 | F R4 < bapEs 2,650
9 Tha—/L 30kg N vz 3,680 3,500 | AR < LempEiE 3,500
10 SRKY—/LC — ok | AR 1,260 1,200 | e < enpds 1,200
11 7Y — MR — m’ +35 5,000 4,500 | P9 EFHEES 4,500
12 27— NHIF) - m’ Bk 5,500 4,500 |FTRREtE WIH L 4,500 4,800
13 7Y —NARH] - m’ Bl Vi 6,500 5,700 | fFREtE BIH AL 5,700 6,900
14 A 25kg 48 — 600 540 |2 S MRSt 570 540
15 EILA L 1:3 m® FIUh 18,900 18,000 | £1)IIRE T BRalstt 18,000
16 EILHIL 1:3 m’ Bl VR 21,200 20,200 | ARG T Mttt 20,200
17 Uy Fa—h 480ml i — 1,420 1,350 | FBREH: <L empdi 1,350
18 [ Hedb m’ +5 5,000 5,000 |BEES T3 phAett [EEig=27) 5,000 5,000
19 24 et m’ B 5,500 4,500 | A7RREHE WA A BT st [EE5ze7y 4,500 4,500 4,500
20 1 A m’ Bl R 6,500 5,800 | Mkt W H AL BT st [Epigezy 5,800 5,800 5,800
21 T 1Ly m’ +35 2,420 2,200 | BT Bolstt [EESgczy 2,200 2,200
22 [ iNrig m’ Bk 2,920 2,000 |BEES T3 phAtt 2,000 2,200
23 T 1Ly m’ B VR 3,920 3,500 |BEMB T3 Balatt [EESgczzy 3,500 3,500
24 [ vy m’ +5 4,800 4,000 | BB T2 Mottt [EEig=27) 4,000 4,000
25 24 =) m’ B 4,900 4,100 |BEEPTE Mt 4,500 4,100 4,300
26 [ S} m’ Bl N 5,800 5,000 |BES T3 phAiatt 5,700 5,000 5,800
27 IR A m® +55 2,420 2,000 |AFREFE FH AL 2,000 3,200
28 1+ A m’ Bl RR 2,920 1,800 | FrRRaxt: 1A 1,800 3,000
29 IR =il m’ Bl Vi 3,420 3,200 | FFREHE HIH AL 3,200 5,500
30 E=il 1A m’ +5 3,000 1,800 | PEFEEES 1,800
31 Eervl A m’ B 3,500 2,000 | P4 EFEEAF 2,000
32 Esil 1A m’ Bl 4,000 3,000 | 5 EFEEAS 3,000
33 LI T —T RC—40 m’ +35 3,200 1,800 | ARt @A AL 1,800 2,500 2,500
34 WhEITvr—T RC—40 m’ Bl RR 3,700 1,900 | FrRRa 1A 1,900 3,000 3,000
35 LI T —T RC—40 m’ BV 4,700 3,000 | ATPREH: WTH A 3,000 3,500 3,500
36 R $20(5%) m’ +5 4,300 3,600 | AH RSt 3,600 4,300
37 BURL A S20(5%5) m’ B 4,800 4,100 |EsHAH MRt 4,100 4,300
38 R $20(5%) m’ Bl Vi 5,800 5,100 M AH BRASHE 5,100 5,300
39 o e C—40 m’ +35 3,600 3,000 | AA Bt 3,000 3,200
40 TR —T C—40 m’ Bk 4,100 3,500 A HRAe ‘EE%@M 3,500 3,500
41 DT —T C—40 m’ Bl Vi 5,100 4,500 |EEFFF PRt ‘EE}%H 4,500 4,500
42 ITi =T C—30 m’ +45 3,700 3,100 M AH RSt 3,100 3,500
43 DT =T C—30 m’ B 4,200 3,600 | B A4 Balstt 3,600 4,000
44 IT =T C—30 m’ Bl 5,200 4,600 |EBHAFS MRtk 4,600 4,800
45 LR AR M—30 m® +45 3,900 3,400 |fBH AR At 3,400 3,900
46 LR M—30 m’ Bl KRR 4,400 3,900 M AH BRASHE 3,900 4,200
47 LR AR M—30 m® fizke 2Nl 5,400 4,900 |EsHEAH Rt 4,900 5,200
48 A=z 7Y —h 18—8—25B m’ Tk 14,700 14,000 | F3)11PEH T Rt 14,000
49 HEarsy—h 18—8—25B m® BN 16,900 16,200 | £1)IIRE T BRalstt 16,200
50 A=z 7Y —h 18—8—40B m’ Tk 14,700 14,000 | F3)1PEH T Rt 14,000
51 HEarsy—h 18—8—40B m® fizke 2Nl 16,900 16,200 | £1)IIRE T BRalstt 16,200
52 Az zY—h 21—-8—25B m’ Tk 15,000 14,300 | F1)IPE T Rt 14,300
53 HEarsy—h 21—-8—25B m® BN 17,200 16,500 | £1)IIRF T BRalastt 16,500
54 A=z 7Y —h 21—8—40B m’ Tk 15,000 14,300 | F1)IPE T Rt 14,300
55 HEarsy—h 21—8—40B m® fizke 2Nl 17,200 16,500 | £1)IIRF T BRalstt 16,500
56 BRI T A — t TIUM () 12,900 12,300 | FEAEREE T3 KRS 12,300
57 b AL e H7A10% t TTU(FE) 13,800 13,100 | GHEAehZE T3 Hhalatth 13,100
58 BRI T A= W5 215% t T () 13,900 13,200 | HEAEREE T3 MRS 13,200
59 HIRLEE T A1 — t TIU () 13,300 12,700 | GHEAHEE T3 HRalatt 12,700
60 HLRLEE T A — t T (FE) 12,600 12,000 | (FEEREE T2 Mottt 12,000




